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1. (A)       . 14 

  Translate and explain any two : 

  (i)        
          
  (ii)         
         
  (iii)        
            
  (iv)         
           
     /OR 

   -3    . 
  Critically evaluate – ‘ –  ’.  

 (B)      ( ) 4 

  Select appropriate option. (Any four)  

  (1) ‘’    _______ 
   ‘’ is written by _________ 

   (a)  (b)  

   (c)  (d)  
  (2) ‘’  _______ . 
   ‘’ is a ________. 

   (a)  (b)  

   (c)  (d)  



AD-111 2  

  (3) ‘’    _______ . 

   _________ is the ‘’ of ‘’. 

   (a)  (b)  

   (c)  (d)  

  (4)  _______   . 

    wants to go to _______. 

   (a)  (b)  

   (c)  (d)  

  (5)   _______ . 

   The father of ‘’ is _________. 

   (a)  (b)  

   (c)  (d)  

  (6)    _______   . 

   _________ is giving information about – ‘’. 

   (a)  (b)  

   (c)  (d)  

 

2. (A)         14 

  Translate and explain any two : 

  (i)         

             

  (ii)       

             

  (iii)        

            

  (iv)       

        

                 /OR 

  ,          . 
  Discuss the impact of seeing an old, a sick and a dead man on Prince Siddharth. 
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 (B)    . ( ) 4 

  Select appropriate option : (Any four) 

  (1)     . 
   ‘’ –   is known as 

   (a)  (b)  

   (c)  (d)  

  (2)     . 
   ________ is produced by ‘’ 
   (a)  (b)  

   (c)  (d)  

  (3)           ? 
   Who is decorated yet followed by crying people ? 

   (a)  (b)  

   (c)  (d)  

  (4) ‘’      ? 
   As per ‘’ who dies ? 

   (a)  (b)  
   (c)  (d)  
  (5) _______      . 
   _______ inspires ‘’ to tell the truth. 

   (a)  (b)  

   (c)  (d)  

  (6)          ? 
   Who becomes dependent even though once he was strong ? 

   (a)  (b)  
   (c)  (d)  

 

3. (A)     . 14 

  Write any two  from the below. 

  (i)     

  (ii)      
  (iii)    

  (iv)    
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 (B)       . ( ) 3 
  Select appropriate option and fill in the blanks any three. 
  (1)   ________  (, , )    
  (2)   _______  (, , )    

  (3)    ______  (, , )     
  (4)    ______  (, , )   

  (5)    _______  (, , ) 
    
4. (A)       . 14 
  Discuss the features of Mahakavya as per Sanskrit poetics. 
   /OR 

     . 
  Write Short notes on any two.  
  (1)   (2)   
  (3)   (4)   
 
 (B)    . ( ) 3 

  (1) ‘ ’   . 
   ‘ ’ is written by 

   (a)  (b)  

   (c)  (d)  

  (2) ‘’   . 
   The villain of ‘’ is - 

   (a)  (b)  

   (c)  (d)  

  (3) ‘’   . 
   ‘’ is written by 

   (a)  (b)  

   (c)  (d)  
  (4)     _______ . 
   ‘’ is a story of _______. 

   (a) - (b) - 
   (c) - (d) - 
  (5)        . 
   In this Mahakavya Shri Ram is also a hero. 
   (a)   (b)  
   (c)    (d)  

___________  
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( –  –   ) 

 
Time : 2:30 Hours]  [Max. Marks : 70 
 

   (1)       . 
Instructions :   Indicate clearly the option you attempt. 
   (2)         . 
    Figures to the right indicate full marks. 
 
1. (A)    (  ) 14 

  Write short notes : (Any two) 
  (1)      
   The advent of the Spy and Ram’s Meditation. 
  (2)    
   Coronation of Ram 
  (3)    
       
  (4)   
   Style of Kalidas 
   
 (B)         (  ) 4 
  Write answer appropriate option of following questions : (Any four) 
  (1)           ? 
   How Sita felt when she gives sorrow to Ram ? 
   (a)  (b)  
   (c)  (d)  

  (2)            ? 
   (a)    (b)   
   (c)    (d)   
   How did the women of Ayodhya facilitated Ram when he come to town ? 
   (a) By flowers throwing (b) By regards 
   (c) By rice throwing (d) By standing 
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  (3)           ?  
   (a)  (b)  
   (c)    (d)  
   Who dressed Sita at the time of coronation of Ram ? 
   (a) Friends (b) Maid Servents  
   (c) The People of Saket (d) Mother in Laws 
  (4)            

  ? 
   (a)   (b)   

   (c)   (d)  

   How much time did Sugriv and Vibhisan spend during the time of 
coronation of Ram ?  

   (a) One month (b) Half months  
   (c) Three months (d) Four months 
  (5)             

 ? 
   (a)  (b)  
   (c)  (d)  
   Where did Ram make Sita sit who was carrying a child and Shame ? 
   (a) Beside (b) on the lap 
   (c) in the Garden (d) in the Occasion 
  (6)          ? 
   (a)  (b)  
   (c)  (d)  
   Whom did Ram say about his ill talk ? 
   (a) Brothers (b) Mothers 
   (c) Sita (d) Prechers 
 
2 (A)       .  14 

  Translate any two of the following verses. 
  (1)        
       
  (2)      
             
  (3)       
             
  (4)       
         
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 (B)         (  ) 4 

  Write answer appropriate option of the following question. (Any four) 
  (1)           ? 
   Whose boat Laxman used to cross Sita to Ganga ? 
   (a)  (b)  
   (c)  (d)  
  (2)           ? 
   Who tried to make Sita unconscious to conscious ? 
   (a)  (b)  
   (c)  (d)  
  (3)         ? 
   Who came to Sita after crying her ? 
   (a)  (b)  
   (c)  (d)  
  (4)      ? 
   (a)  (b)   
   (c)  (d)  

   Who did not cover Sita within itself ? 
   (a) Earth (b) Ganga 
   (c) Yamuna (d) Agni 

  (5)         ? 
   Which river Valmiki indicated to abolish illiteracy ? 

   (a)  (b)  
   (c)  (d)  
  (6)        ? 
   (a)  (b)  
   (c)  (d)  
   Who started crying after seeing sorrow of Sita ? 
   (a) Hunter (b) Friends 
   (c) Trees (d) Mother in Laws 
 

3. (A)      (  ) 14 

  Do as directed : (Any two) 
  (1)   ..   . 
   Forms of  in present tense.  

  (2)   ..   . 
   Forms of  in present tense. 
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  (3)    ..   . 
   Forms of  in Past tense. 

  (4)    ..  . 
   Forms of  in Past tense. 
 

 (B)      . ( ) 3 

  Complete the sentence with appropriate   (Any three) 

  (1)   ________  (  ) 
  (2)   ______  (   ) 
  (3)   _______  (   ) 
  (4)   ________  (   )    

  (5)   _______  (   ) 
   
4. (A)    ‘’     . 14 

  Give characteristics of ‘’ and evaluate ‘’ as  

   /OR 

  ‘’     . 
  Evaluate ‘’ as an epic. 

 (B)         (  ) 3 

  Write answer appropriate option of the following question (Any three) 
  (1)       ? 
   (a)  (b)  (c)  

   How many epics are there in Sanskrit literary ? 
   (a) Five (b) Six (c) Eight 
  (2) ‘’     ? 
   On which base in epic ‘’ in composed ? 

   (a)  (b)  (c)  
  (3) ‘’      ? 
   Which is literary form of ‘’ ? 

   (a)  (b)  (c)   

  (4)       ? 
   For what  is famous ? 

   (a)   (b)   (c)  
  (5) ‘’     ? 
   Whose Pen Name of ‘’ ? 

   (a)  (b)  (c)  
___________ 


